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(19) £f8 5 &E SREKOKEREER
FEas o = = EHE
" R 28248 | 5H128 | 6H6H | 7A2A | 8AT/E | 9578 [ 10A128 ] T1ASH [ 2E 3 [ A5 [ 2a9a [ shaa | BFRE [ n/n | FHE | 8 ~ 8K fupeisrs
PH 75 75 7.4 6.9 7.4 75 7.6 7.6 8.1 7.9 7.6 7.9 58~86] 0% 76 |C_ 69 ~ 81 7.6
4 [ BOD 20 13 7.1 8.3 15 34 12 14 15 350 300 23 25 17% 164 [C 734 T~ 35 ) 164
SS 50 7.0 50 25.0 13 74 50 9.8 10 19.0 8.2 6.8 50 0% 101 [C750 ~"95 04
& | DO ( ~ )
KGR 13 56 10 1,400 75 94 44 64 33 48 8 12 3000 0% 150 JC 8 ~ 1400 ) 150
B [ nAdEEHE <05 <05 <05 <05 <05 <05 <05 <05 <05 <05 <05 <05 5 0% <0 70 T~ 0 <10
Jx/—)LE <0.005 0.018 1 0% 0.009 [C <0.005 ~ 0018 )| 0012
% | <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 3 0% <004 |( <004 T~ <004 )| <004
T 0.07 0.02 0.01 0.04 0.02 0.02 0.04 0.02 0.02 0.02 0.03 0.02 2 0% 003 [C 001 ~"007 | 003
B | AfEEsk £0.06 0.07 <0.06 <0.06 0.22 0.1 0.3 0.06 0.1 0.08 0.06 0.08 3 0% 009 (<006 ~ 030 | 010
REER A <0.02 £0.02 <0.02 <0.02 0.02 <0.02 <0.02 <002 0.02 0.02 0.02 0.03 3 0% <002 (<002 ~"0.03 )| 002
B [ yAL4L £0.04 £0.04 <0.04 <0.04 <0.04 <0.04 £0.04 <0.04 <0.04 <0.04 <0.04 £0.04 2 0% <0.04 J(7<0.04 T~ <004 )| <004
TvEk <0.1 <0.1 8 0% <01 _|C <01~ <01 ] <ol
HAFEHL <0.003 <0.003 0.1 0% <001 (<001~ <001 )| <001
ST <0.1 <0.1 1 0% <04 [C7<00 T~"%01 <01
B <0.1 <0.1 1 0% <04 [C7<00 T~"%01 <01
H | & <0.01 <0.01 0.1 0% <001 [C <001 ~ <001 | <0.01
| ANEvaL <0.04 <0.04 05 0% <004 |( <004 T~ <004 | <004
Rz <0.01 <0.01 0.1 0% <001 (<001~ <001 )| <001
| JKER <0.0005 <0.0005 0.005 0% | <0.0005 |( <0.0005 ~ <0.0005 )| <0.0005
= | FILXILKIE <0.0005 <0.0005 FEHT 0% ] <0.0005 [ <0.0005 ~ <0.0005 )| <0.0005
PCB <0.0005 <0.0005 0.003 0% | <0.0005 |( <0.0005 ~ <0.0005 )| <0.0005
F)700IFLY <0.0005 <0.0005 0.3 0% | <0.0005 |( <0.0005 ~ <0.0005 )| <0.0005
TF5900IFLY <0.0005 <0.0005 0.1 0% | <0.0005 |( <0.0005 ~ <0.0005 )| <0.0005
W | ooonr3y <0.001 <0.001 0.2 0% <0.002 (<0002~ <0.002 )| <0.002
mEEEER <0.0002 <0.0002 0.02 0% | <0.0002 |( <0.0002 "~ <0.0002 )| <0.0002
1, 2— 0014y <0.0004 <0.0004 0.04 0% | <0.0004 |( <0.0004 "~ <0.0004 )| <0.0004
1, 1—=5900IFLY <0.001 <0.001 1 0% <0.001 [ 7<0.001 "~ "<0.001 )| <0.001
g [ YA—1, 2=y 90017y <0.001 <0.001 0.4 0% <0.001 (<0001 "~ <0.001 )| <0.001
1, 1, 1—M)yAA14Y <0.0005 <0.0005 3 0% | <0.0005 |( <0.0005 ~ <0.0005 )| <0.0005
1, 1, 2—M)9AA14Y <0.0006 <0.0006 0.06 0% | <0.0006 |( <0.0006 ~ <0.0006 )|  <0.0006
1, 3—Y5AA7° A~y <0.0002 <0.0002 0.02 0% | <0.0002 |( <0.0002 "~ <0.0002 )| <0.0002
FHS L <0.0006 <0.0006 0.06 0% <0.001 (<0001 "~ <0.001 )| <0.001
PESD) <0.001 <0.001 0.03 0% <0.001 (<0001 "~ <0.001 )| <0.001
FAR AT <0.001 <0.001 0.2 0% <0.001 (<0001 "~ <0.001 )| <0.001
~oEy <0.001 <0.001 0.1 0% <0.001 [ <0.001 "~ "<0.001 )| <0.001
F>3% 0.04 0.04 10 0% 004 [ 004 ~ 004 I 004
FUE=T 7SS L ERBRRREEY) 3.1 4.4 100 0% 3.75 ( 3.1 ~ 440 ) 3.75
L <0.01 <0.01 0.1 0% <001 (<001 ~"<0.01 )| <001
1, 4= FHY <0.005 <£0.005 05 0% <0.005 J(7<0.005 "~ <0.005 )| <0.005
2EFR 13 9.2 3.7 6 10 6.7 14 11 9.1 15.0 21 16 112 JC 37 ~ 29 N 112
EYP) 0.30 0.27 0.2 0.23 0.32 0.2 0.33 0.58 0.46 0.55 05 0.60 038 (020 ~"06 | 038
BAA L R EEER <0.05 £0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <0.05 <005 J( <005 T~ <0.05 )| <0.05
BEEE
BRERK 214 13 13 42 13 13 13 13 13 42 13 13 13 99.1%
(EFREEEH) 122 10 10 11 10 10 10 10 10 11 10 10 10 98.4%
(EEYWHE) 92 3 31 3 3 3 3 31 3 3 3 100.0%
TEE 2 0 0 0 0 0 0 0 1 1 0




